
10
PIEZAS Código

750010

CONTENIDO
CÓDIGO PIEZAS DESCRIPCIÓN

7512 1 Dado impacto 3/4" 6 puntas 3/4"
7513 1 Dado impacto 3/4" 6 puntas 13/16"
7514 1 Dado impacto 3/4" 6 puntas 7/8"
7515 1 Dado impacto 3/4" 6 puntas 15/16"
7516 1 Dado impacto 3/4" 6 puntas 1"
7517 1 Dado impacto 3/4" 6 puntas 1-1/16"
7518 1 Dado impacto 3/4" 6 puntas 1-1/8"
7519 1 Dado impacto 3/4" 6 puntas 1-3/16"
7520 1 Dado impacto 3/4" 6 puntas 1-1/4"
7521 1 Dado impacto 3/4" 6 puntas 1-5/16"


